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Question Number : 1 Question Id : 352795501 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Mho relay is normally used for the protection of:

Options :

1. % Long transmission lines

2. # Medium length lines

3. # Short length lines

4. ® No length criterion

Question Number : 1 Question Id : 352795501 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Hgt Ret 1 IuahT 31 R WR fohgeht gran & forg foa sirar 2:

Options :

1, ¢ et uRwoT ATEH

2. % ey S 6l @

3. ¥ B darg @]

4, ¥ SETE P AIS ATUGS ol

Question Number : 2 Question Id : 352795502 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

If the fault current is 2000 amps, the relay setting 50% and the C.T. ratio is 400/5, then the plug
setting multiplier will be:

Options :
1. % 25A
2. * 15A
3. ®¥ 50A
4. ¥ None of these

Question Number : 2 Question Id : 352795502 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

g thiee eie 2000 QAR 8, dt Ret QT 50% 3R T1.&Y. srgura 400/5 8, af @it Aféar 7ures givm:
Options :

1. ® 25A



2. ®# 15A
3. % 50A

4.+ 38 q HYS T8

Question Number : 3 Question Id : 352795503 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The rotation of disc of an induction disc relay under the poles is

Options :

1. % From unshaded pole to shaded pole

2. ¥ From shaded pole to unshaded pole

3. # It depends upon the magnitude of current

4. # It depends upon the C.T. secondary connection

Question Number : 3 Question Id : 352795503 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

st 3 1 Ueh Seae v R &Y vk o1 gui gar 2

Options :

1. ¢ {391 BT a1 @9 § BRER 9 dh

2. ¥ BRifchd @A ¥ Bifchd W¥ deh

3. ¥ gg gRI1 o gRATT R R Fear

4. % g @&, Areafies waAd R AR e |

Question Number : 4 Question Id : 352795504 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The shape of the disc of an induction disc relay is

Options :

1. # Circular

2. ¥ Spiral

3. # Elliptic

4. % None of these

Question Number : 4 Question Id : 352795504 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

e fewn R hi fewen o R gt &

Options :

1. ® gRux

2. ¢ gfter @

3. ¥ 3ShR




4. % 0 T I 78!

Question Number : 5 Question Id : 352795505 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The percent bias for a generator protection lies between

Options :

1.45t010

2. # 10to 15

3. % 15t0 20

4. % None of these

Question Number : 5 Question Id : 352795505 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

SRR JReT o forg ufdsra gafug fohaes offwr gl 872

Options :

1.¥5d10

2. %10915

3. % 15920

4. % 30 T RIS g

Question Number : 6 Question Id : 352795506 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The number of pilot wires required for protecting 3-phase transmission lines using Translay
system of protection is

Options :
1.%6
2. % 4
3.%3
4. 2

Question Number : 6 Question Id : 352795506 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

et Y& UUTTel! chT IUTNT hch 3-TR0T ZIETAR ATA1 chl RETT o foly 3Tasaeh Uriele dRY <hl T¥T @
Options :

1. % 6

2. % 4

3.% 3

4, 2



Question Number : 7 Question Id : 352795507 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

To limit current chopping in vacuum circuit breakers, the contact material used has

Options :

1. % High vapour pressure and low conductivity properties

2. # High vapour pressure and high conductivity properties

3. #* Low vapour pressure and high conductivity properties

4. % Low vapour pressure and low conductivity properties

Question Number : 7 Question Id : 352795507 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

JeRgH Fiche stel H IaAT TITUT el AT e eh Iy, Fueh Tt et ITTNT feharm ST &

Options :

1. ¢ I= G &g 3R A HTerehdl 0T

2. ¥ I=g 99 gd1d 3R I dleTehdl 0T

3. ¥ oA e <qre 3R I Aletehdl 0T

4, % FHH W TG R HH ITeichdl 70T

Question Number : 8 Question Id : 352795508 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Where voltages are high and current to be interrupted is low the breaker preferred is
Options :

1. # Air blast C.B

2. ¥ 0il C.B.

3. % Vacuum C.B.

4. % Any one of these

Question Number : 8 Question Id : 352795508 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Sigl aledst tfden g SR J1fdd g1 arelt 4RI v 8, a8l siehe eht UTAfAehdT & STt 8

Options :

1. % QIR sAe A&t

2. ¢ da1 9l

3. % o .
4, % 30 G RIS Th

Question Number : 9 Question Id : 352795509 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
The current chopping tendency is minimized by using the SF6 gas at relatively



Options :

1. * High pressure and low velocity
2. ¥ High pressure and high velocity
3. # Low pressure and low velocity

4. % Low pressure and high velocity

Question Number : 9 Question Id : 352795509 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
SF6 71 ohT 3TU&Tehd IUTNT ehich aaHT AU UG ol s fohaT SirdT &

Options :
1. % 3=g <19 3R hH T
2. ¥ 3= g1g 3R I= T

3. ® & <Ig 3R hH AT

4. % A TG 3R ITT AT

Question Number : 10 Question Id : 352795510 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

An overhead line with series compensation is protected using

Options :

1. # Impedance relay

2. % Reactance relay

3. ¥ Mho relay

4. ¥ None of these

Question Number : 10 Question Id : 352795510 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

e &ifagfd & AT ek SRS TS T IUTNT chech TRIET foharr Siram &
Options :

1. % gfgemer Ra

2. % yfaferar Rt

3. ¥ g Rat

4. ¥ 399 Q &3 81

Question Number : 11 Question Id : 352795511 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A Mhorelayis a

Options :

1. # Voltage restrained directional relay



2. ® Voltage controlled over current relay
3. # Directional restrained over current relay

4. ¥ Directional restrained over voltage relay

Question Number : 11 Question Id : 352795511 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

T Hel el goh 8

Options :

1. ¢ diedst Gafad femere Rat
2. % gieest gaaH Rt wR fFafaa
3. ¥ gda Ret W fesncres dafad
4, % giees Rat R e dafad

Question Number : 12 Question Id : 352795512 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The chances of arc interruption in subsequent current zeros

Options:

1. # Increases in case of ABCB but decreases in OCB

2. ¥ Decreases in case of ABCB but increases in OCB

3. # Decreases in both the cases

4. % Increases in both the cases

Question Number : 12 Question Id : 352795512 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

I1E & A LT | 1Y Jehrae I GHTE]

Options:

1. % gefiefielt o et A gfg gt 8 <ifch sielieft & et amrelt &

2. ¥ QeI o AT H Al STl § wAfeh Sitislt # gieg 8l 8

3. ® a1 &) fRfoat # ve St 8

4. % g1 gt fRafoat # sgiad gidt &

Question Number : 13 Question Id : 352795513 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A 3-phase breaker is rated at 2000 MVA, 33kV, its making current will be

Options:

1. % 35kA

2. % 49 kA

3. % 70 kA



4. ¥ 89 kA

Question Number : 13 Question Id : 352795513 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Uah 3-Tho siehR @bt 2000 MVA, 33KV TR e fohaT 14T 8, 39t BfchT ehic gRT

Options:

1. % 351

2. %8 4941

3. % 70 .1

4. v 89%.T

Question Number : 14 Question Id : 352795514 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Buchholz relay protects a transformer from

Options:

1. ¥ All types of internal fault

2. % Aturn to turn fault

3. # Winding to winding fault

4. * None of these

Question Number : 14 Question Id : 352795514 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

gitesT Rt ZIAHHR Y GRET & &
Options :

1. ¢ 9oft UeR & StfaRa gy

2. % <Y gee i Rt

3. ¥ gHTEER TTeld! & fog gATaeR
4. % 378 QA AYS o1

Question Number : 15 Question Id : 352795515 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The minimum oil circuit breaker has less volume of oil because

Options:

1. # There is insulation between contacts

2. * The oil between the breaker contacts has greater strength

3. ¥ Solid insulation is provided for insulating the contacts from earth

4. % None of these is true



Question Number : 15 Question Id : 352795515 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

<IAdH deT Giche sk | el hl AT B Bl & Hifch

Options:

1. ¥ HUchi oh I 3GIM &

2. ¥ SR HUhI o sta ok deT | 31fdeh dTehd gidt &

3. ¢ Ul il et @ 3T B 3 Y B AR T T e

4, % 3 Qs Wi g 7T 8

Question Number : 16 Question Id : 352795516 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The in-rush current of a transformer at no load is maximum if the supply voltage is switched on
Options:

1. ¥ At zero voltage value

2. % At peak voltage value

3. # AtV/2 value

4. ® At 3/2V Value

Question Number : 16 Question Id : 352795516 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

g My atedst are] fovar SiTam & at o fopeht ot o iR i 3-331 Tee ifdehad giat &
Options :

1. ¢ Y dieds A R

2. % O diedst A W

3. % V2AM W

4. % 32 A AA W

Question Number : 17 Question Id : 352795517 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The relay which is most sensitive to power swings (maloperation) is

Options:

1. # Mho relay

2. ¥ Reactance relay

3. # impedance relay

4. # all are equally affected

Question Number : 17 Question Id : 352795517 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
et STt uTeR & (gparet=) & ufd Gard Srfdes ddefier &



Options :

1. % #Agt Rat

2. ¢ ufaferar Rat

3. ¥ gfderar ket

4. % gft gu ®0 @ gnfad §

Question Number : 18 Question Id : 352795518 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A distance relay is said to be inherently directional if its characteristic on R-X diagram

Options :

1. # is a straight line off-set from the origin

2. ¥ s a circle that passes through the origin

3. # is a circle that encloses the origin

4. ® always a separate directional relay is required

Question Number : 18 Question Id : 352795518 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Teh 3 Rt ot w@reifaes &0 9 fermenes gl STaT & afg $9eh! fasivar R-X @ )R &

Options :

1. ® 7o foig § sifrde Yep et @ @

2. ¥ Ueh 91 & Sl Gt § glen o 8

3. % Ueh g & Sl Bl ol &RaT §

4. % GOAT Ueh 3MeTT e Rt dhl SMaRaehdr gl &

Question Number : 19 Question Id : 352795519 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

If the fault current is 2 kA, the relay setting is 50% and the CT ratio is 400/5, then plug setting
multiplier will be

Options :
1. % 25
2. %15
3. %50
4,125

Question Number : 19 Question Id : 352795519 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

g hiee e 2 kA g, Rt 8fET 50% & iR CT 3urd 400/5 &, df w1 SféT AeeicmaR gim

Options :

1. % 25



2. %15
3. % 50
4.4 125

Question Number : 20 Question Id : 352795520 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

If the fault current is 2 kA, the relay setting is 50% and the CT ratio is 400/5, then plug setting
multiplier of the relay will be

Options :
1.%5
2. %7
3.% 8
4.+ 10

Question Number : 20 Question Id : 352795520 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

g hice dee 2 kA 8, et BT 50% & SR CT Srgutd 400/5 8, at Rt o1 wer f 1ores g

Options :

1.%5

2. %7

3.% 8

4.+ 10

Question Number : 21 Question Id : 352795521 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following lamps gives nearly monochromatic light?

Options:

1. # Fluorescent tube

2. ¥ Sodium vapour lamp

3. #¥ mercury vapour lamp

4, % GLS lamp

Question Number : 21 Question Id : 352795521 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

f=ffad & © onie 91 U d e AATehiAE U1 T 872

Options :

1. # GIREE I

2. ¢ Gifegd arg &g

3. ¥ URT QY iy



4, % Sfgeqd g

Question Number : 22 Question Id : 352795522 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The life of incandescent lamp is expected to be

Options :

1. % 500 hrs

2. %1000 hrs

3. # 100 hrs

4. % 10,000 hrs

Question Number : 22 Question Id : 352795522 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

AYENE S T Sita g i IFtE &

Options :

1. % 500 H¢

2.+ 1000 gt

3. ¥ 100 €¢

4. % 10,000 &

Question Number : 23 Question Id : 352795523 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Filament lamp at starting will take current

Options :

1. % Equal to its full running current

2. ¥ more than its full running current

3. # less than its full running current

4. ®* None of these is necessary

Question Number : 23 Question Id : 352795523 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

URY & R ftheTrde T ede o

Options :

1. % g qof 7 e 3 SR

2. ¢ 3Hch guf I hie & smer

3. % g quf T e § e

4, % 399 4 g Hl ATGTH 6l &



Question Number : 24 Question Id : 352795524 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The main application of indirect arc furnace is to melt

Options :

1. % Steel

2. % Iron

3. ¥ Non-ferrous metals

4. # None of these

Question Number : 24 Question Id : 352795524 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

JUET AT WET Tl H AU fUeer = g
Options :

1. % sq@Id

2. % g

3. ¢ 37cilg U1

4. % 78 § g 7

Question Number : 25 Question Id : 352795525 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The core type furnace is usually operated at

Options :

1.4 10 Hz

2. % 50 Hz

3. ¥ 500 Hz

4. % 5KHz

Question Number : 25 Question Id : 352795525 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
PR UhR hl W AMHAR TR TdTferd gidll &

Options :
1. 10 8
2. % 50 g&
3. ¥ 500 gt
4, % 5 fheltgest

Question Number : 26 Question Id : 352795526 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Which of the following motors is usually preferred for kiln drives?



Options :

1. ® Cascade controlled AC motor

2. # Slip ring induction motor

3. ® Three phase shunt wound commutator motor

4. ¥ Any one of these

Question Number : 26 Question Id : 352795526 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

fAfafEa d & ol d Aler SHaR W wEY 812 & fag ude &t Sl 82

Options :

1. ® Fthe Efd gt AR

2. ¥ &g {1 g AR

3. ¥ o9 =RoT 8T 919 R HieR

4. ¥ T8 Y A Uk

Question Number : 27 Question Id : 352795527 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Introduction of automation in production process has become possible only because of the use of
Options :

1. % An electric drive

2. % Group drives

3. ¥ Individual and multi motor drives

4. % Individual drive

Question Number : 27 Question Id : 352795527 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

IcTe ufehar # Ware ahl uRTY fohdch IUTRT o hRUT 4G 81 718 &

Options :

1. % Qe goifargeh grsd

2. % uHg grEd

3. ¥ cafeRTTd SR Ted Hier grga

4. % Fhd g18a

Question Number : 28 Question Id : 352795528 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The advantage of electric traction over other methods is

Options :

1. * No pollution problems



2. % faster acceleration
3. # better braking action
4.« All of these

Question Number : 28 Question Id : 352795528 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

3= fafdat & gt # faefa oot 1 e @

Options :

1. % TIguoT &Y I e Tet

2. ® I @R

3. % dgax sifch garE

4, 349

Question Number : 29 Question Id : 352795529 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Maintenance requirements are minimum in case of

Options:

1. % Electric locomotives

2. # Steam locomotives

3. ¥ Diesel electric locomotives

4. % Diesel engines

Question Number : 29 Question Id : 352795529 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
% AT H RERETT chl ATGIRdIY IAdH 8

Options:

1. ¢ foga &=

2. % 9U g5

3. # SIS Jatfrech 3514
4, % et g5

Question Number : 30 Question Id : 352795530 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The flicker effect of fluorscent lamp is more pronounced at

Options:

1. % Low frequency

2. ® High frequency

3. # Low voltage



4. % high voltage

Question Number : 30 Question Id : 352795530 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

FIRIE AT &1 fRdfAdTge o Sifdes e giar g

Options:

1. ¢ &F g

2. % I agfa

3. ® od dledsl

4. ¥ I=q qiees

Question Number : 31 Question Id : 352795531 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A 200 C.P. lamp is hung 4 meters above the centre of a circular disc of dia 5 meter. The
illuminations at its centre is

Options:

1. % 8 lux

2. % 125 lux
3. # 50 lux
4. % 40 lux

Question Number : 31 Question Id : 352795531 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Qeh 200 H1.4Y. &7 19 5 HieR il Geh gedlehR f$%h oh che & 4 HIeX FUR <Iehl §31T &1 §8eh cha H AT §
Options :

1. ¥ 8

2. # 12.5d

3. # 50 g

4, % 40 99

Question Number : 32 Question Id : 352795532 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

High frequency induction heating is used for

Options:

1. # Ferrous metals only

2. * Non-ferrous metals only

3. ¥ Both ferrous non-ferrous metals

4. % None of these



Question Number : 32 Question Id : 352795532 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

=g JTghy IRur g a1 Iuan forgeh forg forar Srar @

Options:

1. ® chad dig 41qe

2. % aret et Ty

3. ¥ At oitg arcitg ey

4. % T8 9 I T8

Question Number : 33 Question Id : 352795533 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

In case of steam welding, the flow of current through the electrode should be

Options:

1. # continuous

2. ¥ intermittent

3. ¥ can be continuous or intermittent

4. * None of these

Question Number : 33 Question Id : 352795533 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

0T ST o AT H, SAidels o ATEH & hec I UaTg g1 dliey

Options :

1. ¥ R

2. ¥ Jh-Jch h

3. ¥ AR 1 Th-Tch R I Hehd &

4. % 0 T I 718!

Question Number : 34 Question Id : 352795534 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Carbon arc welding is suitable particularly for

Options:

1. # ferrous metals only

2. ¥ Non-ferrous metals only

3. # all metals

4. % None of these

Question Number : 34 Question Id : 352795534 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
I 3MTeh dfesT faiy ®U 8 Iug<h 8



Options :

1. ® had dig 41qe
2. ¥ Had Iltg Urqy
3. ® goft grqu

4. % 378 Q AY 51

Question Number : 35 Question Id : 352795535 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

if the coefficient of adhesion on dry rails 0.25 which of the following could be the value for wet
rails?

Options :
1. % 0.32
2. % 0.25
3. % 0.245
4.+ 0.15

Question Number : 35 Question Id : 352795535 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

e gt ¥t IR SIS T Totiek 0.25 § at Mieft 37 & forg fAmfofaa # @ ot a1 | 8t Gepar &2

Options :

1. ¥ 0.32

2. % 0.25

3. ¥ 0.245

4.4 0.15

Question Number : 36 Question Id : 352795536 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Speed of locomotive is controlled by

Options :

1. ®¥ gear box flywheel

2. % flywheel

3. ¥ regulating steam to engine

4. ® applying brakes.

Question Number : 36 Question Id : 352795536 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Aretrifea &t nifa fohges grT fRAfHEa 6 St 82

Options :

1. ¥ R af



2. & gt
3. ¢ 359 ° WY ot fafafaa e
4. % §ep AT

Question Number : 37 Question Id : 352795537 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following motors has series characteristics?

Options :

1. # Shaded Pole motor

2. ¥ Repulsion motor

3. ¥ Capacitor start motor

4. % None of these

Question Number : 37 Question Id : 352795537 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ffafea 5 9 forg Atex &t gioft fasivand 82

Options :

1. ¥ Brgifhd Uid AR

2. ¢ gfdepyur AR

3. % dytia URY Al

4, % 378 Q RIS 781

Question Number : 38 Question Id : 352795538 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

For crane travel which off the following motors in normally used?

Options :

1. % Synchronous motor

2. ® DC differential compound motor

3. ¥ Ward Leonard controlled DC shunt motor

4.« AC slip ring motor

Question Number : 38 Question Id : 352795538 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

el T & g Fm=aa: =fafea | @ s & Atex 1 9= U & Iuai fohar Sirar 82

Options :

1. % geudio Hex

2. % it femifrget shurde Al

3. # g1¢ forgars A it 2ic Hiex ot Fifd o



4. + g ferg R AR

Question Number : 39 Question Id : 352795539 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The distance between two stations is 1 km and schedule speed is 30 Km per hour. Station stopping
time 20 sec. The average speed is.

Options:

1. # 25.7Kmphr
2. % 36 Kmphr
3. ¥ 45 Kmphr
4. % 54 Kmphr

Question Number : 39 Question Id : 352795539 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

QY Rl o st R gt 1 fRet & ok RefRa wifa 30 foret Ui wier 81 Rem WR TRt ot Ty 20 ke | eitaa 71 8.
Options :

1. % 25.7 fonet ufa ger

2. ¥ 36 fhelidier ufd gar

3. ¥ 45 foret ufa der

4. % 54 fererHier ufd wer

Question Number : 40 Question Id : 352795540 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A train having internal weight of 220 tones uses regenerative braking when the speed is changed
from 60 kmph to 20 kmph. The energy returned to supply is (assume 100% efficiency)

Options :

1. % 7.546 KWhr
2. % 8.32 KWhr
3. # 5.6595 KWhr

4. * None of these

Question Number : 40 Question Id : 352795540 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

220 T Hidiker YR dTeft Yeh o <l Tfd 60 foret ufa € & 20 foret ufd 6¢ & sgermt or gaafs sifch <1 suahT
et g1 Sy & ofters 7 Foif & (T & R 100% & @)

Options:

1. ¢ 7.546 fohalare gear
2. ¥ 8.32 foreriare der
3. ¥ 5.6595 foheftare wer



4. % 0 T I 78!

Question Number : 41 Question Id : 352795541 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the value of transient stability limit?

Options :

1. # Higher than steady state stability limit

2. ¥ Lower than steady state stability limit

3. # Depending upon

4. % Shunt resistance

Question Number : 41 Question Id : 352795541 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
giforen =T T o1 719 T 82

Options :

1. ¥ R TSy RARar @1 4 sifde
2. ¢ R Iy RRar dwr @ &
3. ® dte i iefiRar & YR W

4, % gt

Question Number : 42 Question Id : 352795542 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The stability of the power system is not affected by which among these?

Options :

1. # Generator reactance

2. ¥ Line losses

3. # Excitation of generators

4, #® All of these

Question Number : 42 Question Id : 352795542 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

farsTeft TroTeft <t feRaT 39 @ fohad uarfad =&l gt 82

Options :

1. ¥ SRR ufdferan

2. ¥ drea A

3. ® FReR Y Icdsi

4. % g gf



Question Number : 43 Question Id : 352795543 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Steady-state stability of a power system is the ability of the power system to

Options :

1. ¥ Maintain voltage at the rated voltage level

2. # Maintain frequency exactly at 50 Hz

3. # Maintain a spinning reserve margin at all times

4. ¥ Maintain Synchronism between machines and on external tie lines

Question Number : 43 Question Id : 352795543 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Uah QTfh TOTTe! h fdR-srawe frar arf<h gorreft &Y emmar &

Options :

1. % W3 et TR W dlees] I41¢ &

2. % 3rghy foegpet 50 83T WR §Q

3. ® g YAY Yeh T3 STRIET AIFSH FA1g 3

4, « a3 3R qEd @1 1Sl & &9 dTerfel a9 3

Question Number : 44 Question Id : 352795544 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

With the help of a reactive compensator it is possible to have

Options :

1. # Constant voltage operation only

2. ® Unity p.f. operation only

3. ¥ Both constant voltage and unity p.f.

4. ® Either constant voltage or unity p.f.

Question Number : 44 Question Id : 352795544 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Ueh ufdfehareiier sdgrer Y ggrar 4 ag 9yva g

Options :

1. # TAMAR diees MU had

2. ¥ dhad g UY.Qth. SHTaReM

3. ¥ @R gicdot 3R Tehdr o). T, A1

4. % 71t R aiedst a1 gl o.uw.

Question Number : 45 Question Id : 352795545 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Interconnected systems have the advantage of



Options :
1. ® Reduced reserve plant capacity, capital cost per kW and economy in operation.

2. ®# improved load factor, diversity factor and operation efficiency and increased reliability of
supply

3. ¥ Both (a) and (b)

4. # None of these

Question Number : 45 Question Id : 352795545 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

SRR S AEeH &1 el 8

Options :

1. % oy IRfET T &rdT, Ufd foheTiare goft anTd $TR HaTer | srefcgaer

2. ¥ JgR e therer, fAfderdt ohrep 3R aTer garar 3R Smyfd i fasga-iadr # g

3. ¥ gt (T) ok (ft)

4. % 399 Q BI3 T8

Question Number : 46 Question Id : 352795546 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What are the essential requirements for power plants to be operated as peak load plants?
Options :

1. ® Capability of quick start, synchronization and taking up of system load.

2. # Quick response to load variations.

3. ®¥ Low capital cost

4.+ All of these

Question Number : 46 Question Id : 352795546 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

faela |3 et Uik cile T35 & ®U H Harfeld oA & fIg srasyes masgehdid T 8?2

Options :

1. ¥ @R 3T, Rerrgeiee iR A die o &t &

2. % dire fafdydrstt & forg @fRa ufafkan

3. ¥ ¥ YSiTd ST

4. 3 gh

Question Number : 47 Question Id : 352795547 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Why is load shedding done?

Options :

1. ¥ Reducing peak demand on the system



2. ® repairing of machines.
3. ® Power factor improvement.

4. # Efficient operation of equipment.

Question Number : 47 Question Id : 352795547 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

it ST Rt &t STt 872

Options :

1. ¢ fA%H R TRH AT Gl HH HAT

2. % mefiHl Y ea.

3. ¥ UreR theek | GUR.

4, % IO I HTeT HTe.

Question Number : 48 Question Id : 352795548 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Annual operating cost of a generating plant consists of

Options:

1. # Fixed charges

2. ® semi Fixed charges

3. # QOperating or Running Charges

4. ¢ All of these

Question Number : 48 Question Id : 352795548 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Uch IATEH G4 ! aTfieh URETe dTd § 1A &

Options:

1. # fAf9d e

2. % ¢ [Afd 3[een

3. % YTl g1 IeT T {[ech
4, v 3 g+t

Question Number : 49 Question Id : 352795549 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Fault level means

Options:

1. # Voltage at fault point

2. ® Fault current

3. ® Fault power factor



4. ¥ Fault MVA

Question Number : 49 Question Id : 352795549 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Y TR T AT &

Options:

1. # hree foig IR aleest

2. % Thled i

3. ® et AUfh PRA

4. ¥ HIee HAY

Question Number : 50 Question Id : 352795550 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A short circuit current is identified by

Options:

1. % Heavy current flow

2. ® Voltage rise

3. # Voltage drop

4. * None of above

Question Number : 50 Question Id : 352795550 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

2ifE Gfche e I ugar fohdeh gRT &l STt 872

Options :

1. ¢ R} YRT UaT8

2. % G i

3. ® gleest g

4. % 35 & IS 781

Question Number : 51 Question Id : 352795551 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Equal area criteria is applicable to an electric system if the system consists of

Options:

1. ¥ Only one machine swinging with respect to infinite bus

2. # At least two machine swinging with respect to infinite bus

3. # At least three machine swinging with respect to infinite bus

4. % none of these



Question Number : 51 Question Id : 352795551 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

e faeen & fagga vomett enfaet & at T & Ads ] 8T 8

Options:

1. ¢ 3d 99 oh GaY H chael Tep A Ferdl! 8

2. % 3 99 & Gay & & & e &l Af grerh &

3. ¥ 3Fd 99 & H§Y H A 9 hA oI AAH Feldl 8

4. % 399 G IS TG

Question Number : 52 Question Id : 352795552 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of following are used to reduce short circuit fault currents

Options:

1. % reactors

2. % resistors

3. ® capacitors

4. #® parallel combination of all these

Question Number : 52 Question Id : 352795552 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

2iTE Gfdhe hiee T dt hH & & fag Amfefad 7 9 forgenr Iuai forar sirar 82

Options :

1. ¢ Ruaei

2. % gfoRe

3. ¥ U

4, % 7 g o1 gHMTIR Tt

Question Number : 53 Question Id : 352795553 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The bus-bar of each of the two alternators of 15% reactance each, are interconnected through tie-
bar reactors of 15% each. The equivalent impedance to fault current for a 3-phase fault in any
alternator bus-bar will be

Options :

1. % 0.75

2. % 0.1

3.9 711.25%
4. % 0.15

Question Number : 53 Question Id : 352795553 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.25
15% UfdeTd Tt &1 SreeAex] # § Udeh ol I9-aR, Uddh 15% oh <r3-IR Ruee & ATegH 4 g # ST g3t 2|
foret oft Sfeeter 99-aR | 3-Thsl e & [l thiee i o A Ufdarar giift

Options :

1. % 0.75

2. % 0.1

3.v 711.25%
4. % 0.15

Question Number : 54 Question Id : 352795554 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The solution of coordination equations takes into account:

Options :

1. ® All the system Constraints

2. # All the operational constraints

3. # All the system and operation constraints

4. ¥ None of these

Question Number : 54 Question Id : 352795554 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

GH-IY GHIAROTT ohT JHTYT 01 | &1 8

Options :

1. % goft {wew sremd

2. % goft gRare gad} arand

3. ¥ goft f&%ed SR TR Y

4. 38 & HIS 781

Question Number : 55 Question Id : 352795555 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

For any fixed degree of series compensation additional capacitive shunt compensation
Options :

1. ¥ increases the effective length of line

2. * Increases virtual surge impedance of line

3. # Decreases virtual surge impedance loading of the line

4. % (b)and (c)

Question Number : 55 Question Id : 352795555 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
SRt garraet <t foredt off Ffga et & forg sifaRes hafafea <ie gamast



Options :

1. ¥ IS hY T A9TS SoTdT @

2. % g < M9 gfeg ufdareT &bl ST g

3. ¥ e i st gicg ufaarer e ol v waT 8
4. % (aft) 3R (&)

Question Number : 56 Question Id : 352795556 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The inertia constant of two groups of machines which do not swing together are M1 and M2 such
that M1>M2. It is proposed to add some inertia to one of the two groups of machines for
improving the transient stability of the system. It should be added to:

Options :

1. % M1

2. ¥ M2

3. # It does not matter whether to add to M1 or M2
4. ¥ None of these

Question Number : 56 Question Id : 352795556 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

AT & < g I STec RRieh St Gep 1 T =18 ahed 8, M1 3R M2 39 UehR 3 foh Sidt foh M1>M2 1 tomredt
< &1foTeh fRRAT & GuUR & forg 7M1 & 3 T & & U # 3 ST SIS ol UaTd g1 39 399 SISl ST 91y
Options:

1. % M1

2. ¥ M2

3. % 39 PI3 heh Hal gSdT fob M1 a1 M2 § STre-T1 @ a1 Jal

4. % I8 T I 718!

Question Number : 57 Question Id : 352795557 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A 100 km transmission line is designed for a nominal voltage of 132 KV and consists of one
conductor per phase. The line reactance is 0.726 ohm/km. The static transmission capacity of the
line, in Megawatts, would

Options :
1. % 132
2.9 240
3. % 416
4. % 720

Question Number : 57 Question Id : 352795557 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



U 100 foreft &t AR @81 132 chdll & ARTATS dleesT o folq fSuie- &l 715 ¢ 3R 39 Ufd IR0T Udh thadex
g1 &1 &g ufaerd 0.726 s\ /for} 81 ars <hl fRR gRyuT &1, Avmare § o ghft

Options :
1. % 132
2. v 240
3. % 416
4. % 720

Question Number : 58 Question Id : 352795558 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A power system network with a capacity of 100 MVA has source impedance of 10% at a point. The
fault level at that point is

Options :

1. % 10 MVA
2. % 30 MVA
3. ¥ 3000 MVA
4.+ 1000 MVA

Question Number : 58 Question Id : 352795558 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

100 THEIY Y &HdT aTet Tep UTaR %ed Aeah # U fog IR Sid ufdarem 10% g1 39 g R av &7 TR 8
Options :

1. # 10 gAY

2. % 30 gHdiu

3. ¥ 3000 gAY

4.+ 1000 THdQ

Question Number : 59 Question Id : 352795559 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

If the penalty factor for bus 1 in a two-bus system is 1.25 and if the incremental cost of production
at bus 1is Rs. 200 per MWhr. The coast of received power at bus 2 is:

Options :

1. % Rs 250/MWhr
2. % RS 62.5/MWhr
3. # Rs 160/MWhr

4. * None of these

Question Number : 59 Question Id : 352795559 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



g qt-a9 goTrett 7 a9 1 & foig &8 7uries 1.25 & ok af a9 1 # Iaured i gigefia @ <. 200 ufa #vmare et
g, d 99 2 W T fostett Y aImTd T 8:

Options :

1. ¥ 3. 250/97TMaTe

2. % ¥, 62.5/0MMEme Her
3. % 3. 160/™ETe

4. % 0 T I g

Question Number : 60 Question Id : 352795560 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which of the following type of collector is used for low temperature systems?

Options :

1. ¥ Flat plate collector

2. # line focusing parabolic collector

3. # paraboloid dish collector

4. # All of the above

Question Number : 60 Question Id : 352795560 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
ffafaa @ {59 gaR & Turges o1 IUahT A dT9H Tonferdl & forg fohar STrar 82

Options :

1. ¥ TRIT ©IT ShetereX

2. ¥ TS Which T WRIAIch HUTgeh
3. ¥ Waicirse fexr stz

4, % g+t

Question Number : 61 Question Id : 352795561 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

In what form is solar energy is radiated from the sun?

Options :

1. ® Ultraviolet Radiation

2. # Infrared radiation

3. ¥ electromagnetic waves

4. % Transverse waves

Question Number : 61 Question Id : 352795561 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
gd & 9R St fora wu & Aeherdt 82

Options :



1. ® Wy fafeRror
2. ¥ ghRs fafeor
3. ¢ fagga grarehiy a3
4, % U] I

Question Number : 62 Question Id : 352795562 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Energy manger should be well versed with

Options :

1. ®* manufacturing and processing skills

2. ¥ managerial and technical skills

3. # Technical and marketing skills

4. % Managerial and commercial skills

Question Number : 62 Question Id : 352795562 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
Fotl TRAT oh Ty 3<S) g O arfehth g1 I1fey

Options :

1. ® fafA\for 3R UEwRoT shlgre
2. ¢ USUhIT 3R deh-ilchl il
3. ¥ goptchl R fauur alere

4. % yeychiy 3R qIfviSyh hisrel

Question Number : 63 Question Id : 352795563 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The tool used for performance assessment and logical evaluation of avenues for improvement in
energy management and audit is

Options :

1. # Fuel substitution

2. * monitoring and verification
3. # energy pricing

4. ¥ Bench marking

Question Number : 63 Question Id : 352795563 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Solt ey 3R A@TaRIe # GUR & forg et & UesiH Jedich 3R difches Hedier o foig IuahT fohar S arer
IUTHRUT RIT &

Options:
1. % gy ufoemaa



2. ® RE ofk gmue
3. ¥ ol g FAyRo
4.« &9 7rfch

Question Number : 64 Question Id : 352795564 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

A rotor installed in a fixed orientation with the swept area perpendicular to the pre dominate wind
direction is called ................

Options :

1. # Nacelle

2. ¥ Yaw fixed Machines
3. # Blades

4. % Anemometer

Question Number : 64 Question Id : 352795564 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Tos Afa sifafa=ame & wenfuq Wex e gd ueme gar &t 2 & dead a8 &7 giar 8l

Options :

1. ® dope

2.+ 3 ftheres w=f=

3. ¥ =ig

4. ¥ UgTHIY IF

Question Number : 65 Question Id : 352795565 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The term biomass most often refers to ...........

Options :

1. # Inorganic matter

2. ¥ Organic matter

3. ¥ Declaration of top management commitment

4, ® Future production projection

Question Number : 65 Question Id : 352795565 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

I G UT: ... ! HafHid &ar gl

Options :

1. ¥ eplei-eh gaTy

2. ¢ creifaeh gard

3. ¥ @I



4. % mifagy gt

Question Number : 66 Question Id : 352795566 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The aerobic digestion of sewage is used to produce.........

Options :

1. * Biomass

2. ¥ Bio fuels

3. # Synthetic fuels

4. % Metal articles

Question Number : 66 Question Id : 352795566 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ST o GRifSen uree ot IUANT ........ IdTe o foru fohar Strar &

Options :

1. ® Siafte

2. ¢ Sg 4

3. ® fOdfee em

4, % grg g

Question Number : 67 Question Id : 352795567 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The percentage of carbon dioxide in the bio methane is .................

Options :

1. ¥ 30-40

2.9 32-43

3. % 3545

4. # 55-60

Question Number : 67 Question Id : 352795567 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Sig HIL H h1el STEHTRITES &l T oo gidar g

Options :

1. # 30-40

2.9 32-43

3. % 35-45

4, % 55-60

Question Number : 68 Question Id : 352795568 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.25
What does OTEC stand for ?

Options :

1. # Ocean thermal energy cultivation
2. ¥ Ocean thermal energy conversion
3. # Ocean techno energy conservation

4. % Ocean thermal energy consumption

Question Number : 68 Question Id : 352795568 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

OTEC 1 guf U &1 8?

Options :

1. ¥ AENHETR dTdg 3ol <l Wt

2. ¢ HEENR YH Holl &Yiaor

3. ¥ HEENR dehrilchl Soll TRE0T

4, ¥ AEETR IHd Holl ol @ad

Question Number : 69 Question Id : 352795569 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the basic requirement of hydroelectric power station?

Options :

1. ¥ Reservoir

2. #* Turbine

3. # Power house

4. % Penstock

Question Number : 69 Question Id : 352795569 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

STeTfae]d UTeR WL chl HeTHd SATIThdT RiT 8?2

Options :

1. ¥ SR

2. % zafgA

3. ® IR 889

4., % SAgR

Question Number : 70 Question Id : 352795570 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Kaplan turbine is

Options :



1. ¢ Axial flow turbine
2. ¥ Inward flow turbine
3. ¥ Tangential flow turbine

4. ¥ Mixed flow turbine

Question Number : 70 Question Id : 352795570 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

HUSAT TS g

Options :

1. ¢ 3M&id garg earg

2. ¥ 3{1geh UdTg &1

3. & WRAEY yarg earg
4. % AfAg yarg e

Question Number : 71 Question Id : 352795571 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The objective of energy management includes

Options :

1. ® Minimizing energy costs

2. ®# Minimizing waste

3. # Minimizing environmental degradation

4, ¢ All of these

Question Number : 71 Question Id : 352795571 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Foll Ueie & e A AT 8

Options :

1. ¥ 3Tl ANTA Sl ATH hAT

2. % R ohl HH AT

3. ¥ UgieRUflg &RUT ehl —YAaH HAT

4, g gt

Question Number : 72 Question Id : 352795572 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The benchmarking parameter for air conditioning equipment is

Options :

1. ¥ kW/Ton of refrigeration

2. % kW/kg of refrigeration



3. #® kcal/m3 of chilled water

4. % Differential temperature across chiller

Question Number : 72 Question Id : 352795572 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

QAR a0 IueruT o forg semifchn fRler 3

Options :

1. ¢ fohettare /e usftas

2. % fopcriare/fenum AThsRe FTett

3. # e urt kcal/m3

4, ¥ ReR # R arod=

Question Number : 73 Question Id : 352795573 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The percentage of energy saved at the current rate of use, compared to the reference year rate of
use, is called

Options :

1. # Energy utilization

2. ¥ Energy performance
3. #* Energy efficiency

4. % None

Question Number : 73 Question Id : 352795573 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

U Y Teof aef &R Y g1 A IUTIT Y IAIAH &R TR 4TS TS Iolt bl UTARTT gl STal &

Options :

1. ® el IuAT

2. ¢ Ff ueshq

3. ¥ ol qerar

4. % g a1

Question Number : 74 Question Id : 352795574 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

For a cement plant the parameter, "kWh/MT of clinker" indicates

Options :

1. % Energy index parameter

2. # Utility factor

3. #® Production factor

4. # Load factor



Question Number : 74 Question Id : 352795574 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Ueh HiHe G931 & foig dfier, "ferienR et kWh/MT " Sfiid ehar @

Options :

1. ¢ STl Yachich RN

2. ® IUYIAIAT hReh

3. ® IdIed hReh

4, % 1S ther?

Question Number : 75 Question Id : 352795575 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

An energy policy does not include

Options:

1. # Target energy consumption reduction

2. * Time period for reduction

3. # Declaration of top management commitment

4. ¥ Future production projection

Question Number : 75 Question Id : 352795575 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Uk Sl AIfd F At 781 @

Options:

1. ® oIl @Ud | HH! P AL

2. ® FHl & forg gramEafy

3. % 2fiY usiee ufdegdr & giwon

4, ¥ 9fasy 1 IaTeH Uegor

Question Number : 76 Question Id : 352795576 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum load (light & fan) that can be connected in one sub-circuit
Options:

1. ¥ 1000 W

2.¥ 800 W

3. % 1500 W

4. % 3000 W

Question Number : 76 Question Id : 352795576 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



Uch IU-URTY H 31fdehad WR (T3¢ 3R U@T) i S71d &
Options:

1. % 1000 Ssegq

2. ¥ 800 Sscq.

3. % 1500 S&eg

4. % 3000 Sseq.

Question Number : 77 Question Id : 352795577 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Material used for wiring continuous bus bar is

Options:

1.9 Aluminium

2. % Copper

3. ¥ Gold

4. * Silver

Question Number : 77 Question Id : 352795577 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

9dd 99 IR I arafT o fog ug=h vt 8

Options :

1. ¢ regHifAgH

2. ® dgia

3. % g

4. % 9id

Question Number : 78 Question Id : 352795578 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Connect all earth electrodes to reduce the earth resistance of the grid substation

Options:

1. % Series

2. ¥ Parallel

3. * Star

4. % Delta

Question Number : 78 Question Id : 352795578 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
e Geee™ & aref ufaRie ot A et o g 9t s1ef starele ht Haifoia ed 8

Options:



1. % goft
2. ¥ HMIR
3. ¥ &R
4, % 3

Question Number : 79 Question Id : 352795579 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

When the transmission voltage increases. The volume of the conductor will be

Options :

1. # Increase

2. ® Doesn't change

3. ¥ Decrease

4. % Both (A) & (B)

Question Number : 79 Question Id : 352795579 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

URYUT & favra & gfeg g1 WR ATeTeh ol A g

Options :

1. % gedr

2. % uRafdd =g gim

3. ¢ g

4. ® T (7) 3R (sfY)

Question Number : 80 Question Id : 352795580 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Radial thickness of the duct used should be

Options :

1.4 10 mm

2. % 15 mm

3. % 20 mm

4. ® None of these

Question Number : 80 Question Id : 352795580 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ITANT fohd ST aTet S i IeTer AR g+t amfey

Options :

1. ¢ 10 fa#

2. % 15 fosft



3. # 20 fasft
4. % 30 T RIS g

Question Number : 81 Question Id : 352795581 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Any Voltage that is generally greater than 250 Volts and not exceeding 650 volt is classified as
Options :

1. ¥ Low voltage

2. ¥ Medium voltage

3. # High voltage

4. * None of these

Question Number : 81 Question Id : 352795581 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

his i fava St em IR 1R 250 diee & 31fdeh 3R 650 dlee § fder &1 giar & I avfichd fohar ST 8
Options :

1. ¢ A dieeS

2. ® Hegd e

3. ¥ 39 giedsT

4. % 30 T I 78!

Question Number : 82 Question Id : 352795582 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Shackle insulator are used in the low tension line

Options :

1. # Horizontal

2. * Vertical

3. ® Triangular

4.+ All

Question Number : 82 Question Id : 352795582 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

ot 9 TS H Aehed Yeiex T IUANT okt STaT 8

Options :

1. % gfast

2. ® g3l

3. ¥ R

4, v 3 g+t




Question Number : 83 Question Id : 352795583 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Power plant has low running cost

Options :

1. ®* Coal based

2. # Hydel based

3. ¥ Nuclear based

4. % None of these

Question Number : 83 Question Id : 352795583 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
UTeR Wi hl Il hl ANTd A &

Options :

1. ¥ RIger smeTRa
2. % grgsd mytikd
3. ¢ =AY STyTiRd
4, % 398 FIE T

Question Number : 84 Question Id : 352795584 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Electric Potential of the earth considered to be

Options :

1. % Low

2. # High

3. ¥ Zero

4. # Constant

Question Number : 84 Question Id : 352795584 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

gedf} 1 degfer favra AT ST @

Options :

1. % e

2. % 3@

3.¥ 3

4. % fAua

Question Number : 85 Question Id : 352795585 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



Speed of series wound DC motor is

Options :

1. # Control it by using a regulator in the shut field
2. % Not controlled by divider

3. ¢ Decreasing Flux will Increase speed

4. % Increasing armature circuit resistance will increase speed

Question Number : 85 Question Id : 352795585 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
RIS ade St Ater &l 71fd

Options :

1. % e hics H A[ete o1 IUANT ek 39 fAdfHa st
2. % fSager gr1 Rafa g o gend

3. ¢ I A g4 9 TIfd dgdt 8

4, % R Gihe ufaty sig & 71fd o1g STt

Question Number : 86 Question Id : 352795586 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The Four cell arranged in parallel connection to each other. The rating of each cell is 1.5V & 16 AH.
Then AH rating pf battery is

Options :

1. ¥ 16 AH
2. % 32 AH
3. # 38 AH
4. ¥ 64 AH

Question Number : 86 Question Id : 352795586 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

IR ITRARIV Teh gER T AR G H AR & | Udch Ut i FT 1.5 V Td 16 AH g1 fthe qua A dedt
fohat ghft

Options :

1. % 16 7gg
2. % 32 Quy
3. ¥ 38 Uy
4. ¥ 64 Yqq

Question Number : 87 Question Id : 352795587 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
In Underground cable armouring is made up of



Options :

1. # By polyvinyl Chloride

2. ¥ By galvanized Steel wire
3. # By Fiber

4, # All of these

Question Number : 87 Question Id : 352795587 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

AT heleT ST ATHIRT shad ST 8IdT &

Options :

1. ¥ GiciifdTgel iiRIss gRI

2. ¥ Aedgee Wiel dR gRI

3. ¥ ISR gRI

4, % g gt

Question Number : 88 Question Id : 352795588 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Test each appliance for insulation resistance before witching it on when the insulation resistance
for the health should not be less than needed

Options :

1.4 1 Mega ohm
2. # 2 mega ohm
3. #* 0.5 mega ohm

4. % 0.25 mega ohm

Question Number : 88 Question Id : 352795588 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Uceh IUhRUT ehl ITe] il § Ugel Sl UfaRIY & folq I8ehT uiequr a1 A1fey, STd drueh & foig faega Aeht
gfaRiy @ &d =8l g1 =@1fay

Options :

1.9 1 ®m 3|

2. % 2 7m 3w

3. % 0.5 A 3nH

4, % 0.25 7 39

Question Number : 89 Question Id : 352795589 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

While measuring power by two watt meter method, if one volt meter gives reading in opposite
direction then the power factor of the load



Options :

1. % Above 0.5
2. ¥ Below 0.5
3.% 0.5

4, = Zero

Question Number : 89 Question Id : 352795589 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

QY gre Hier fafd @ urer AT9d GHY IS e atee Hier fAudia faem # dfEn & dt @te 1 urer here Rt gl 8?2
Options :

1. % 0.593IW

2.4 0.58H=

3.%05

4. % =

Question Number : 90 Question Id : 352795590 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Temperature limit of class "E" insulation is

Options:

1. % 50°

2. % 80°

3. % 120°

4. ¥ 500°

Question Number : 90 Question Id : 352795590 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
FATH """ SR T ITIHH AT 8

Options:
1. % 50°
2. % 80°
3. % 120°
4.+ 500°

Question Number : 91 Question Id : 352795591 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

The equipment required for loading or unloading an electrical machine is

Options :

1. # Jack

2. # Winch



3. ®# Hoist
4.« All of the above

Question Number : 91 Question Id : 352795591 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
faela #=fiF ot dte a1 SFTeie S o oy SrTasaeh UK §

Options :
1. % Sop

2. % Tt
3. ¥ IHrSAT
4. ¢ 3 gt

Question Number : 92 Question Id : 352795592 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Shaft parallelism is in vertical and horizontal state in the alignment of motor shaft

Options :

1. % By steel track method

2. ¥ By filler gauge method

3. # By spirit level method

4. % By both methods of steel rail and spirit plane

Question Number : 92 Question Id : 352795592 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
HIeR AU o T@UT H FHeafer iR Sfdst ATH 31T H# AR GHAHTRT fohar Sirar @

Options :

1. ¥ W1 ¢o fAfd gra

2. ¢ el 71 fafe grr

3. ¥ fARe dqe flafar &

4, ¥ T 3 R AR = g atent &

Question Number : 93 Question Id : 352795593 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

To reduce the Earth resistance of the grid substation all the earth electrode are connected
Options :

1. ® In Series

2. ¥ In Parallel

3. % In Star

4, # In Delta



Question Number : 93 Question Id : 352795593 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

fire Gereee & o ufaRiy &t i & & folg Tt o 3eierels ot €afSd & &
Options :

1. % guft

2. ¢ AR |

3. ® ¥RH

4, % ST H

Question Number : 94 Question Id : 352795594 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

If the working voltage of a circuit is more than 1 KV, then the rated voltage of the megger for
measuring insulation resistance should be

Options :
1.4 250 Volt
2. ® 500 Volt
3. # 1000 Volt
4. ® 2500 Volt

Question Number : 94 Question Id : 352795594 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

g foreft dfche et srrisfier aledsT 1 Shelt & 31fdies &, dt 3ol Uiy et AU & oIy AR &1 ¢S AT g
afeg

Options :
1.+ 250 dlee
2. % 500 diee
3. % 1000 Tiee
4. % 2500 Tl

Question Number : 95 Question Id : 352795595 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Complete overhaul of induction motor should be don

Options :

1. # Monthly

2. ¥ Annual

3. #* Half yearly

4. % After 3 years



Question Number : 95 Question Id : 352795595 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
S Al T QUi 3iaRgrel fohar ST a1fgy

Options:

1. % g &
2. ¢ qiftien

3. ¥ Jredfariten
4. % 3 I 91

Question Number : 96 Question Id : 352795596 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Fine particles can be separated from which plant

Options:

1. # Cyclone

2. % Scrubber

3. * Filter

4. ¢ Electrostatic Precipitator

Question Number : 96 Question Id : 352795596 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

fohe TT= @ aRten Rt eht S1erTT foham ST Hehall 8

Options :

1. ® JIehdld

2. #® Thek

3. ¥ ftheex

4. ¢ ZFfien MR

Question Number : 97 Question Id : 352795597 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

During Inspection of an electric motor, it is found that the motor is not running smoothly and its
foundation is shaking which of the following could be the reason

Options:

1. # The belt is slipping

2. # Itis overloaded

3. ¥ The position of the brush is not correct

4.« Rotor is unbalanced

Question Number : 97 Question Id : 352795597 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25



Teh 3oifareeh Hiex o FHR1eToT o SR, I8 UTaT 7T foh Hier gare U & 76l 9 <6 ¢ 3R SHRI hIdetH el @1 &,
fA=fafea A @ o9 91 HRUT 8 Gehar &

Options :

1. % dee U B @I 8

2. % MRS 8

3. % g3 Y FRAfy T 7 @
4. ¥ QR e &

Question Number : 98 Question Id : 352795598 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

For what purpose is the rural string carrier used in maintenance of running lines

Options :

1. % To replace the pole

2. ¥ To Hold the driver

3. # To raise the conductor

4. % To replace the insulator at end of the line

Question Number : 98 Question Id : 352795598 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

T TSI Sh IG-XE@TG H T G hRAR a1 IuahT fohd oprdd o ferg ferar Sirar 82

Options :

1. ® Uit Sgetq o foig

2.+ ITeieh &l Uehe o folg

3. % JreTeh Bt HWR I8 & forg

4, ® 13 & Sifaw R 9 $gier ageq & fog

Question Number : 99 Question Id : 352795599 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

These are 6 branch circuits in DB system of wiring, how many wires will come out from DB
Options :

1.%6

2. %7

3.4 12

4, % 15

Question Number : 99 Question Id : 352795599 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25
qrafaT st DB UuTelt § & 6 /IRa1 yRUY 8, DB & fohd dR fRepedtt?

Options :



1. %6
2. %7
3.4 12
4. % 15

Question Number : 100 Question Id : 352795600 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

Which type of wiring system is suitable for multi-story building
Options:

1. # Tree System

2. ®# Ring man system

3. ¢ Distribution board system

4. ®¥ Ring man and distribution board system

Question Number : 100 Question Id : 352795600 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.25

JgHfSIe 3ARA & forg fhg wepR Y arafar yomeft Iuges &2
Options :

1. % & gorret

2. % A R{ed

3. ¢ f3¥I=ge™ at gurrett

4, % 1849 3R f3EI=ge™ S guredt



